[image: image4.png]





RDMOTO CZECH REPUBLIC



info@rdmoto.cz



www.rdmoto.cz


K50S
Kawasaki Ninja H2 SX SE 2018-
	Mounting Kit - Left Side:
	Mounting Kit - Right Side:

	
	
	
	
	
	
	
	
	
	

	ID
	Description
	Cat.No
	Pcs
	
	ID
	Description
	Cat.No
	Pcs
	

	1
	Dural. adapter l=40mm
	DV-317
	1
	
	1
	Dural. adapter l=40mm
	DV-317
	1
	

	2
	Dural. sleeve l=72mm
	201
	1
	
	2
	Dural. sleeve l=52mm
	200
	1
	

	3
	Bolt M6x25
	877
	3
	
	3
	Bolt M6x25
	877
	3
	

	4
	Bolt M4x16
	876
	2
	
	4
	Bolt M4x16
	876
	2
	

	5
	Bolt M10x115x1,25
	894
	1
	
	5
	Bolt M10x95x1,25
	927
	1
	


Mounting instructions – Left Side:
1. Remove original bolt according to the picture below.
2. Attach the dural. adapter ID.1 and ID.2 to the motorcycle frame using the bolt ID.5. 
3. Attach the slider and fasten it using bolts ID.3.
4. Insert the cover into the slider and fasten it using bolts ID.4. 
Mounting instructions – Right Side:
1. Remove original bolt according to the picture below.
2. Attach the dural. adapter ID.1 and ID.2 to the motorcycle frame using the bolt ID.5
3. Attach the slider and fasten it using bolts ID.3.

4. Insert the cover into the slider and fasten it using bolts ID.4.
Warning: We recommend using medium strength (blue) thread glue during assembly.
[image: image1.jpg]



[image: image2.jpg]



[image: image3.jpg]



2

